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Si. No. 1 86 C-DTN-J-NHB

MANAGEMENT
Paper 11

Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate.

Candidates should attempt Question Nos. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

All questions carry equal marks.

Assume suitable data if considered necessary
and indicate the same clearly.
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Section ‘A’

1. Auempt any three of the following questions .

(a)

(b)

(c)

20x3=60

A regimen consisting of a daily dose of
vitamin C was tested to determine its effective-

‘ness in preventing the common cold. Ten
.people who were following the prescribed

regimen were observed for a period of one
year. Eight survived the winter without a cold.
Suppose the probability of surviving the winter
without cold is 0-5 when vitamin C regimen is
not followed. What is the probability of
observing eight or more survivors, given that
the regimen is ineffective in increasing
resistance to colds ?

Discuss the managerial utility of the sensitivity
analysis in linear programming.

Assuming a linear regression model of the type
Y;=a+bX;+ U, i=1, 2...29

the following data have been collected
Y x2=100, T XY, =72, 3 X, = 2610,
> Y, =1740

where X; and Y: are deviations of X, and }’l.

from their respective sample means X and Y.
What is the least square estimate of a and b ?
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1. freafofea § & ot e ool & s &g -
20x3=60
(%) "TaRer s & fFawer & guarfaar st Fafor
FA & foru, fGerfam ‘W@ fir ow s gue &
TS 92T &1 9T faar /@ | 0F g9 e
&1 o Faffg v s @ 9, =
ay T srafer e Jeor faar @ | 3 & s
H&T & HIEH H [T Al g3 | 719 oifog i w1
faerfse &’ & wzmTaE @ smERor 7 fEE S
LT T, I 94l & HIEH A [ & a9 @ 6
QTfaRaT 0-5 BT & | 37 ot sferes S{e gent @
2@ T T FAT 9TIHEAT BRI, ST J[RTAT & gfq
gfare & gfz &= & g2 sgwEt 8 7
(@) s g F ddear oo v geudhm
IrafiaT o 5=t fifsa |
(1) R YV,=a+bX,+ U, i=1, 2..29 & U&H
ﬁmwwmaaﬁm%@,ﬁmﬁ%ﬁ
sTehe TR faeg oo & -

= x7 =100, T X; Y] = 72, T X, = 2610,

>Y; =1740
Stet X, SRy, famem & X, 3R v, & sr-arw
gicasf areAT X R ¥ | | g 3T b &7 geaw a9t
HATeher T @ 7
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(d) The following table gives the number of
aircraft accidents that occurs during the
various days of the week. Find whether the
accidents are uniformly distributed over the

week.
Days Sun | Mon | Tue | Wed | Thurs | Fri | Sat
No. of
accidents 14 16 8 12 11 91 14

(Given : the values of chi-square significant at
5, 6, 7 d.f. are respectively 11-07, 12-59, 14-07
at 5% level of significance).

2. Explain the difference between the product moment
correlation coefficient and rank correlation coeffi-

cient.

The rankings of ten students in two subjects A and B

are as follows :

A |3 kD

10

B |6 |4

10

Find the correlation coefficient and comment on

the result.
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3

A small firm makes three similar products, which
all follow the same three-step process, consisting of
milling, inspection and drilling. Product A requires
12 minutes of milling, 5 minutes for inspection,
and 10 minutes of drilling per unit; product
B requires 10 minutes of milling, 4 minutes for
inspection, and 8 minutes of drilling per unit;
product C requires 8 minutes of milling, 4 minutes
for inspection, and 16 minutes of drilling. The
department has 20 hours available during the next
period for milling, 15 hours for inspection, and 24
hours for drilling. Product A contributes Rs. 2-40
per unit to profit, product B contributes Rs. 2-:50 per
unit, and product C contributes Rs. 3-00 per unit.
Determine the optimal mix of products in terms of
maximizing contribution to profits for the period.

60

Discuss in detail the different supply - chain
strategies. What is an appropriate supply chain
design. for a competitive environment ? 60

Section ‘B’

A.B. Motors (ABM) is one of the oldest multi-
national corporations in the world. Founded in
1910, ABM established its first international
operation in the 1920s. Historically, most of the
ABM'’s foreign operations have been concentrated
in Western Europe.
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3. OF DRI FH I G0 Ieq1g SATar 2, S Yo,
feveror 3z e Y w & - afsmar #1 sreor
ferar smar 8 | s ‘F & fow ofy = Swor ¥
12 f=et, Fdteaor & 5 fmeY o 399 5 10 firat 6y
HATEYTHAT Bt & | Iaume ‘& & foro ofy == Qwor 3
10 f=eY, fRdreor & 4 e ok 3ua ¥ 8 fimear 6
ATEFHAT BT € | Icare ‘1" & forw ofey s Quor &
8 faaet, fAadteor & 4 f=2Y ik a9 ¥ 16 et $r
ATAFHAT erat 2 | F3ImT & arey st s fr &, dwor
ferg 20 wvz, fader & forg 15 9o ok Fuw & fro
24 992 ITH=E § | ITE ‘& HATE § IfT T &, 2-40,
. SR @ 7ath ® gfq g . 250 3R Ieae o
% # gfer T61E ©. 3-00 &1 ARTET FaT € | AT
HFTH & SR FATH § FRTETT FT Afermas F0t & forg
IeaTal & Fsean fimor &t frafor FHifso | 60

4. fafsr qfif e wriIfET w fawr & s=5f $ifm )
fcreaefores afcaer & forg suges gfef syaar s aar
BT 7 60

gvT ‘@’

5. U St #ed (TEw) 9K & e [/ Sy
it ¥ o 8 1 1910 F =nfie, wsivw 3 spgar ouw
HOSET 99T 1920 & a3k # earfae f&ar o)
ufderfaes &7 & witw & sfisier Gsf ggmew
g T A Fa @ &
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Although ABM has had a long presence in Latin
America and Asia, until recently, sales there
accounted for only a small fraction of the
company’s total international business. Acknow-
ledging the fact that Asia, Latin America and
Eastern Europe will be the automobile industry’s
growth markets. ABM decided to have a new look
at its international business strategy in 2009.
Traditionally, ABM would consider the developing
world as a dumping ground for its old, outdated and
obsolete technology. The production would be
decentralized. North American and West European
factories would produce the latest, state of the art
vehicles while the plants in developing countries
would produce old and discarded models. The
operations would not be centrally controlled from
its headquarter (HQ) and subsidiaries in different
countries would produce vehicles as per their
specific requirements. Thus, there would be two
sets of ABM vehicles plying in the world at any
given time — old, outdated and discarded models in
developing world and new, state of the art models
(with multiple variants of each one of them) in
Western Europe and North America.

Despite being one of the oldest players in
international business, numerous problems can still
be seen on ABM’s horizon. Compared to Toyota,
who is fast becoming world’s largest automobile
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Y UHieT dF a@ & AT AT R ufiar §
TeT &, aurfy 3t g1 a= gt &y fafsrar Faet & Fa
i FRISR &1 Fad TF DT 90 @ E | ™
e &Y e gy fo ufSmar, ST st 3R 3@t
R Al § /e 9T & w918 TR S, TEw
¥ 2009 ¥ AT FAT<g FRAR WiHIfT 9 7¢ &)
¥ R =@ i 919 | O ¥ uEew G
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ATTH AT HT IATaA il Tt feramrasiier o &
49 QU WX A<h WISEl Sl SA1Q | =Tl HT
TeITerd & FEig w9 & fFaEr 7g e i Bl 2
¥ ator safaar g 907 Fir uAT Ffere seagswarEt &
FAER areq famfor &G0 | 3| gFwR T ot a5
GO F USOF aredl & a7 82 99 @ e — W 3
Ik ATee fasTasiier 61 § K 9U, A8 Arsd (S99
& 90T & e - i sarery afea) ofvws@t 09
3 IO WA H |

AT FRER ¥ =9 g faenfsar § & o= e
& FraeE, TEINH A IS GHEny @l ST gt € |
21T &F qFHTae §, ST AT F A JTeA1 HT G FHT
qa9 2T fAwfar a=ar s @ 8, wdien 39 anral,
ot et St & e (e fasmsiter 2 #)
3 FTS Y Agaaa T & 2 | ST SR 3= AT
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manufacturer, ABM suffers from high costs, low
perceived quality- (especially in developing
countries) and a profusion of brands. Toyota and
other Japanese vehicle manufacturers are fast
spreading their wings with low-cost and high fuel
economy vehicles in developing world.

There is one group in ABM who strongly feels that
the time has come for ABM to change its strategy
and to produce “global cars™ while the other group
feels that ABM should produce country-specific
models to attract local customers.

Answer any rhree of the following questions :
20x3=60

(a) How would you characterize the international
strategy pursued by ABM in the (i) developing
world and (ii) Europe prior to 2009 ?

(b) What would be your advice to ABM regarding
the international strategy it is planning ?

(c) How should ABM compete with Japanese car
manufacturers globally ?

(d) What should ABM do (i) produce global cars

or (11) produce local country-specific models ?
Justify your answer.
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(%) ww gRT 2009 & 9 () S g9 6k
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IqF T A TSIUH HT ATIhT 4T TATS SFIT 7

(31) wERw Fr s wR fFafaet & a afas
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6. Governments can influele firms’ decisions to
invest in foreign countries. By their choice of
policies, both host country and home-country
governments encourage and restrict Foreign Direct
Investment (FDI). An important determinant of
government policy toward FDI is political ideology.
Political ideology ranges from a radical stance that
is hostile to FDI to a noninterventionist, free market
stance — between the two extremes is an approach
best described as pragmatic nationalism. Explain
how the political ideology of a host government
might influence the negotiations between the host
government and a foreign multinational enterprise
(MNE). Under what circumstances is an MNE in a
powerful negotiating position vis-a-vis a host
government 7 What costs does a developing host
country pay for FDI ? 60

7. Tata Motors was planning to set up a factory to
manufacture ‘the world’s cheapest car’ in Singur,
West Bengal. However, due to the steep resistance
of local people they had to shift the plant location
to Gujarat.

'Explain how each of the following resources within
the company might influence its overall strategy.
(any three) : . 20x3=60

(a) Plant location
(b) Company image
(c) Financial resources

(d) Human Resource Planning
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6. <R faRel ¥ Frdyr w0 ¥ Wt 3 fyvfat =y gwifaa -

F THAT & | Arfaat ¥ 9= 962 F ZRT, AT 297
3T € T AT & fadeit gerer Fder (U, r.amd) @y
greETied a1 Hifaa & aad € | UnSrenE & gfy s
Aifar &1 v weayef fFrufe asifes e ot
g | ToFifas ferer T ww ew su gfe @, s &
Ut & gfiger ST 8, & sT-Hemady, ge IR
gfe, a= Srar @ | 37 2T & & s us Suwr dEr
grar ®, et aad st @9 sgaeiias auae fir @t
A1t 8 | gueRe fF fvem aer i fSEran,
AT TFR AT et sgarsdia gam F =i aratsy
&1 v g & gwrfae s gt @ | e o &
TEUSLIT FTH AT ALhT 3 T STFeheITeT AT et
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7. 2z Ared qfeww S, TR § ‘gar fir g99 g
FR &1 Fmfor & & T2 s Y o= 3= @
AT | 9 T ARM & < IFArer 3 10T, ITaht 597
srafeafa =y e & eyafca sET 9T |
sz ifsry & F9et & gt Feafofaa saear &
A, HIAT I T WHITT #f fFa g S g <
gEHar g | (s @) - 20x3=60
(%) ag= safeufy
(&) su=r 3fa
() fa< gamae
(o) AT GETEH JISHTRL0T
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8. Air India, the national carrier, has recently

- approached the government to bail it out by
sanctioning an amount of Rs. 15,000 crores.
Ministry of Civil Aviation has appointed you as the
Chairman and Managing Director of Air India. You .
need to submit a detailed plan of revival for Air
India in next three years. Your strategic consultant
tells you that you may copsider any of the four
planning models (namely,limtegic Business Unit,
The Boston Consulting Group Matrix, The General
Electric Business Screen and Porter’s Generic
Strategies Model).

(a) Describe the four strategic planning models
briefly.

(b) Which of these four strategic planning models
would you find most useful for Air India and
why ? |

(c) Based on the model selected, outline a brief
plan for revival of Air India. 30+15+15=60
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fear & | sprer st aret § waw ifear & qessita & fog
ATIHT U faega IS A31 FHT @ | 379F OEIAS
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(F) IR HIEF DISTEr JTeEt & g8 F o
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(@) =7 9= WiATaeE TS0 A1t 7 & & areer

Y R iR ¥ U Ay e sgrer IuEne 9
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() wafag \Eew F AR 9T, wak IfEEr %
qAGssad & fau o a@fée demr i st
dar fifsa | 30+15+15=60
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Note : English version of the Instructions is printed on
the front cover of this question paper.




